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Note :- (1) All guestions are compulsory.
(1) Dhagrams, whenever pecessary shorly A neat amd accurate
. (1) Pame factors as a produce off 1460 38

M 2x2xBe? (b) 2 % 7 = 10

|

c) 2 xTI x5 x7 (d)  None of these

. (1) The mth term of an AP s 3 r + 4, then the Bth tenn s
(n) 35 (b 28
(cy 25 (d) Nonc of these

. (1) The constant term of a polymomial 6 - 3 « Tu is

(a) 6 (b)y <3
(c) =7 (d) None of these
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(1v) The bisector of an 2 60" s
{a) 30° (by 20°

(c) 407 (d) Nonec of these

(v) If length is 3 em, breadth is 2 cm. Ihen penmeter of a rectangic

is : -
{(a) 9 ¢m (b) 0 ¢m
(c) 12 cm (M ¥ tm

(vi) If a dic is thyopn RS} then the propability of getung even

pumher 1g &

(a) (b)

b | o=

| 1 %x6n6h

« {¢) (d) r

P |

42 Find the distance between the points (2, 1) and (4, 1)

&Y A tnagent PQ at a point P of a arcle of radius 5 cm meets a line
through the centre O at a point Q, so that 0Q = 12 ecm. Find the
length of PQ. 2
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(4, Evalusee

sin§0* . 2
cos 72°

¢ 5. Use Euclids' divisiom algonthm to fied the HCF of 135 and 225, 4

$6. Inan AP where a, » 37, f = 3. Find o and s, 4
v 7. Solve the limear equation by the substitwting mcthod
2e ¢ 3y = 13
and 4r + 5y =_2% 4

8. The larger of 1wo yoppieebty angles caceeds the smaller by 18

degrees, Find ifigar - 1
L9 Divide 3¢t o S0 -7 4 2042 by 43 s 1 -4

010. One card is drawn from a well thuffled deck of $2 cards Find the

probability that the card will :  https://www.jkboseonline.com

(1) be an ace
(1) not be an ae 4
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I+ L1, Fisd the roots of 2¢° — 7o 4+ 3 = 0 hy the method of completing
the square.
r
The dagonal of a rectangular field s 60 metres more than the
shorter sede. If the Jomper side 18 30 metres ‘more than the shorer
side. find the sides.
1 o102, Find the roots of v + x = 6 = 0 by e mctpod of factonsation.
\
Crr
Roban's mother 1 36 pqya ofder thar m The product of their
ages 3 years TOM Tow will be 360, Find Rohan's present age.
CRES !l’ adine s drawn paralle] to one side of a triangle 10 intersect the
other two sides 1a distenct pownts, the other 1o sides ase divided in
the same ratio,
()
The diagonals of a guadnlateral ABCD intersect each other at a point
A0 CO
0. sach 1hat H_O = l_“}f) show that ABCD s a trapeziem,
SSEPKMI16—8703-.C /
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v 14. ABD is a tiangle right argled at A, € 18 a point on BD such that
AC 1 BD show that ACT = BCDC.

Or

ABC it an isosceles tnangle with AC = BC.If ART » 2ACT, prove
that ABC is 2 nght tnangle D
o 15, Find the area of a isnangle whose vertices are (-5, =1 (3, -5) and
(5, 2)
Or

Find the co-ordinites of the pomts of trpsagam T3 the line segmenl
joaniag (4, ~1) and (-2. -3)L 6

|o 16, If 3 cot A = 4 ghixk Wtiher
1-1an® A

* . N
S = ¢COos" A - sin* A or not.
]4tan* A

Or
B '
Prove the identity
cos A | +snA
4 =2eeC A
+sinA COs A 6
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12 17 Prove that the tanpests drawn 21 the ends of diametes of a circle are
paralle!l
O
If TP and TO are the two tangents 1o a circle with centre O, so that
Z POQ = 1100, find 2 FIQ

va 18 From the top of a 7 m hagh building. the angle of elevaton of the

Hop of a cable tower 15 G017 and the anple of depression of its foot
15 45 Determine the height of the tower.

Or

‘Evaluate -

oW Svee” 307 - tanl 48"
nn: 30" . ms: e

v 19, Constroct 3 tnamgle of sides 4 cm, S cm, and 0 cm and then 3

- _ . 2 e
inangle similar 10 it whose sides are 3 of the comresponding sides

of the first tnangle,
(4 1]

Draw a line segment of 76 cm and divide i in the ratio of § - 8.
Measure the two parts (No steps of construction)
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0. A 20 m deep well wih dameter 7 m oo dup and the cath from
d[u‘lﬂt " f\fﬂly 1.[\er] ot o Limm B pl.lth!m MNmn 4 m
Find the bheight of the plattivm

»

A dnnking plasy v i the shape of 3 fnrvum of a cone of height

14 cm. The diametcrs of os two circular ends are 4 on and 2 cm

Find the capacity of the glass

-
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